
Spare parts list                  
                                  

                                  
                                  6720620012

35CDI RSF

22/04/2009 6720620012 1



22/04/2009 6720620012 2



22/04/2009 6720620012 3



1 
Casing
D

35CDI-FSN 35CDI-FSP 

Spare parts list                                                                     

22/04/2009 6720620012 4



Pos description S-Nr ordering no. PG gas type remarks

22/04/2009 6720620012 5



1 

Spare parts list                                                                     

CASING
D

35CDI-FSN 35CDI-FSP 

22/04/2009 6720620012 6



Pos description S-Nr ordering no. PG gas type remarks

22/04/2009 6720620012 7



1 
CASING
D

35CDI-FSN 35CDI-FSP 

Spare parts list                                                                     

22/04/2009 6720620012 8



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

1 Wall mounting/service connections assy 8 716 120 790 0 LPG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 9



1 

Spare parts list                                                                     

CASING
D

35CDI-FSN 35CDI-FSP 

22/04/2009 6720620012 10



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

1 Wall mounting/service connections assy 8 716 120 790 0 NG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 11



1 
CASING
D

35CDI-FSN 35CDI-FSP 

Spare parts list                                                                     

22/04/2009 6720620012 12



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

2 Union gas cock 3/4" blk hd f 8 716 142 425 0 LPG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 13



1 

Spare parts list                                                                     

CASING
D

35CDI-FSN 35CDI-FSP 

22/04/2009 6720620012 14



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

2 Union gas cock 3/4" blk hd f 8 716 142 425 0 NG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 15



1 
CASING
D

35CDI-FSN 35CDI-FSP 

Spare parts list                                                                     

22/04/2009 6720620012 16



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

3 Isolator valve 15mm-one c/nut 8 716 142 418 0 LPG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 17



1 

Spare parts list                                                                     

CASING
D

35CDI-FSN 35CDI-FSP 

22/04/2009 6720620012 18



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

3 Isolator valve 15mm-one c/nut 8 716 142 418 0 NG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 19



1 
CASING
D

35CDI-FSN 35CDI-FSP 

Spare parts list                                                                     

22/04/2009 6720620012 20



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

4 Blkhd valve-15mm x 15mm 8 716 142 428 0 LPG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 21



1 

Spare parts list                                                                     

CASING
D

35CDI-FSN 35CDI-FSP 

22/04/2009 6720620012 22



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

4 Blkhd valve-15mm x 15mm 8 716 142 428 0 NG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 23



1 
CASING
D

35CDI-FSN 35CDI-FSP 

Spare parts list                                                                     

22/04/2009 6720620012 24



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

5 Valve - 22mm bulkhead 8 716 156 749 0 LPG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 25



1 

Spare parts list                                                                     

CASING
D

35CDI-FSN 35CDI-FSP 

22/04/2009 6720620012 26



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

5 Valve - 22mm bulkhead 8 716 156 749 0 NG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 27



1 
CASING
D

35CDI-FSN 35CDI-FSP 

Spare parts list                                                                     

22/04/2009 6720620012 28



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

6 Screw m4x10mm taptite Scr zc pl p/h 2 914 411 408 0 LPG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 29



1 

Spare parts list                                                                     

CASING
D

35CDI-FSN 35CDI-FSP 

22/04/2009 6720620012 30



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

6 Screw m4x10mm taptite Scr zc pl p/h 2 914 411 408 0 NG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 31



1 
CASING
D

35CDI-FSN 35CDI-FSP 

Spare parts list                                                                     

22/04/2009 6720620012 32



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

7 Cabinet side panel-lh assembly 8 716 100 939 0 LPG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 33



1 

Spare parts list                                                                     

CASING
D

35CDI-FSN 35CDI-FSP 

22/04/2009 6720620012 34



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

7 Cabinet side panel-lh assembly 8 716 100 939 0 NG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 35



1 
CASING
D

35CDI-FSN 35CDI-FSP 

Spare parts list                                                                     

22/04/2009 6720620012 36



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

8 Screw iso no 6b x 9.5 recessed 2 912 421 210 0 07 LPG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 37



1 

Spare parts list                                                                     

CASING
D

35CDI-FSN 35CDI-FSP 

22/04/2009 6720620012 38



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

8 Screw iso no 6b x 9.5 recessed 2 912 421 210 0 07 NG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 39



1 
CASING
D

35CDI-FSN 35CDI-FSP 

Spare parts list                                                                     

22/04/2009 6720620012 40



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

9 Cabinet side panel-rh assembly 8 716 100 940 0 LPG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 41



1 

Spare parts list                                                                     

CASING
D

35CDI-FSN 35CDI-FSP 

22/04/2009 6720620012 42



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

9 Cabinet side panel-rh assembly 8 716 100 940 0 NG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 43



1 
CASING
D

35CDI-FSN 35CDI-FSP 

Spare parts list                                                                     

22/04/2009 6720620012 44



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

10 Inner sealing disc 8 716 100 442 0 LPG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 45



1 

Spare parts list                                                                     

CASING
D

35CDI-FSN 35CDI-FSP 

22/04/2009 6720620012 46



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

10 Inner sealing disc 8 716 100 442 0 NG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 47



1 
CASING
D

35CDI-FSN 35CDI-FSP 

Spare parts list                                                                     

22/04/2009 6720620012 48



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

11 Gasket - air duct 8 716 140 928 0 LPG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 49



1 

Spare parts list                                                                     

CASING
D

35CDI-FSN 35CDI-FSP 

22/04/2009 6720620012 50



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

11 Gasket - air duct 8 716 140 928 0 NG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 51



1 
CASING
D

35CDI-FSN 35CDI-FSP 

Spare parts list                                                                     

22/04/2009 6720620012 52



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

12 Outer sealing disc painted 8 716 100 977 0 LPG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 53



1 

Spare parts list                                                                     

CASING
D

35CDI-FSN 35CDI-FSP 

22/04/2009 6720620012 54



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

12 Outer sealing disc painted 8 716 100 977 0 NG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 55



1 
CASING
D

35CDI-FSN 35CDI-FSP 

Spare parts list                                                                     

22/04/2009 6720620012 56



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

13 Nut M5 Full Hex Z/P M/S 2 915 011 006 0 10 LPG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 57



1 

Spare parts list                                                                     

CASING
D

35CDI-FSN 35CDI-FSP 

22/04/2009 6720620012 58



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

13 Nut M5 Full Hex Z/P M/S 2 915 011 006 0 10 NG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 59



1 
CASING
D

35CDI-FSN 35CDI-FSP 

Spare parts list                                                                     

22/04/2009 6720620012 60



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

14 Facia main body 8 716 141 079 0 LPG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 61



1 

Spare parts list                                                                     

CASING
D

35CDI-FSN 35CDI-FSP 

22/04/2009 6720620012 62



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

14 Facia main body 8 716 141 079 0 NG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 63



1 
CASING
D

35CDI-FSN 35CDI-FSP 

Spare parts list                                                                     

22/04/2009 6720620012 64



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

15 Screw m4x8mm taptite zc pl p/h 2 914 411 412 0 03 LPG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 65



1 

Spare parts list                                                                     

CASING
D

35CDI-FSN 35CDI-FSP 

22/04/2009 6720620012 66



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

15 Screw m4x8mm taptite zc pl p/h 2 914 411 412 0 03 NG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 67



1 
CASING
D

35CDI-FSN 35CDI-FSP 

Spare parts list                                                                     

22/04/2009 6720620012 68



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

16 Plug blanking black 8mm 8 716 141 149 0 LPG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 69



1 

Spare parts list                                                                     

CASING
D

35CDI-FSN 35CDI-FSP 

22/04/2009 6720620012 70



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

16 Plug blanking black 8mm 8 716 141 149 0 NG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 71



1 
CASING
D

35CDI-FSN 35CDI-FSP 

Spare parts list                                                                     

22/04/2009 6720620012 72



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

17 Cabinet front panel 8 716 100 941 0 LPG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 73



1 

Spare parts list                                                                     

CASING
D

35CDI-FSN 35CDI-FSP 

22/04/2009 6720620012 74



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

17 Cabinet front panel 8 716 100 941 0 NG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 75



1 
CASING
D

35CDI-FSN 35CDI-FSP 

Spare parts list                                                                     

22/04/2009 6720620012 76



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

18 Cabinet bottom panel 8 716 100 942 0 LPG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 77



1 

Spare parts list                                                                     

CASING
D

35CDI-FSN 35CDI-FSP 

22/04/2009 6720620012 78



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

18 Cabinet bottom panel 8 716 100 942 0 NG

135CDI-FSN 35CDI-FSP CASING
D

22/04/2009 6720620012 79



2 
Pump / Hydraulic assy
D

35CDI-FSN 35CDI-FSP 

Spare parts list                                                                     

22/04/2009 6720620012 80



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

1 Gasket-sil.sp92x52x3.0mm 8 716 140 909 0 LPG
1 Gasket-sil.sp92x52x3.0mm 8 716 140 909 0 NG
2 Gas manifold - valve to burner 8 716 143 006 0 LPG
2 Gas manifold - valve to burner 8 716 143 006 0 NG
3 Screw m5x10mm hex/slotted head 2 911 131 152 0 08 LPG
3 Screw m5x10mm hex/slotted head 2 911 131 152 0 08 NG
4 O-Ring 2.62x22.23 id h-nitrile 8 716 140 827 0 LPG
4 O-Ring 2.62x22.23 id h-nitrile 8 716 140 827 0 NG
5 Gas valve - ng 8 716 156 733 0 NG
5 Gas valve - lpg 8 716 156 734 0 LPG
5 Gas valve - lpg 8 716 156 734 0 NG
6 Screw m4x8mm hex hd Scr zinc plated 2 911 051 118 0 LPG
6 Screw m4x8mm hex hd Scr zinc plated 2 911 051 118 0 NG
7 Pressure feedback nipple 8 716 156 316 0 LPG
7 Pressure feedback nipple 8 716 156 316 0 NG
8 Washer fibre 8.0 x 5.1 x 1.0 8 716 140 911 0 LPG
8 Washer fibre 8.0 x 5.1 x 1.0 8 716 140 911 0 NG
9 Keep plate 8 716 100 434 0 LPG
9 Keep plate 8 716 100 434 0 NG
10 Keep plate locking plate 8 716 100 433 0 LPG
10 Keep plate locking plate 8 716 100 433 0 NG
11 Screw m4x10mm taptite Scr zc pl p/h 2 914 411 408 0 LPG
11 Screw m4x10mm taptite Scr zc pl p/h 2 914 411 408 0 NG
12 Screw m5x8 taptite pozi pl 2 914 411 256 0 LPG
12 Screw m5x8 taptite pozi pl 2 914 411 256 0 NG
13 Sampling tube 8 716 100 701 0 LPG
13 Sampling tube 8 716 100 701 0 NG
14 Manifold gas inlet 8 716 120 333 0 LPG
14 Manifold gas inlet 8 716 120 333 0 NG
15 Plate heat exchanger 8 716 101 976 0 LPG
15 Plate heat exchanger 8 716 101 976 0 NG
16 O-ring 16,64x3,53 8 716 140 831 0 LPG
16 O-ring 16,64x3,53 8 716 140 831 0 NG
17 Washer 18.6 X 13.5 X 1.5  (10x) 8 710 103 045 0 11 LPG
17 Washer 18.6 X 13.5 X 1.5  (10x) 8 710 103 045 0 11 NG
17 Washer 18.6 x 13.5 x 1.5 (1x) 8 716 115 680 0 LPG
17 Washer 18.6 x 13.5 x 1.5 (1x) 8 716 115 680 0 NG
18 DHW outlet assembly 8 716 120 366 0 LPG
18 DHW outlet assembly 8 716 120 366 0 NG
19 Clip - domestic h.w. thermistor 8 716 148 313 0 LPG
19 Clip - domestic h.w. thermistor 8 716 148 313 0 NG
20 Central heating sensor (pps) 8 716 142 384 0 29 LPG
20 Central heating sensor (pps) 8 716 142 384 0 29 NG
21 Screw no.8x1/2 f/h type b self tap. 2 912 421 225 0 16 LPG
21 Screw no.8x1/2 f/h type b self tap. 2 912 421 225 0 16 NG
22 Sika flow switch assembly 8 716 121 201 0 LPG
22 Sika flow switch assembly 8 716 121 201 0 NG
23 Fibre washer 23.9 X 17.2 X 1.5 (10x) 8 710 103 043 0 12 LPG
23 Fibre washer 23.9 X 17.2 X 1.5 (10x) 8 710 103 043 0 12 NG
23 Washer 23.9 x 17.2 x 1.5 (X1) 8 716 115 674 0 LPG
23 Washer 23.9 x 17.2 x 1.5 (X1) 8 716 115 674 0 NG
24 Flow switch inlet assy 8 716 120 770 0 LPG

235CDI-FSN 35CDI-FSP Pump / Hydraulic assy
D

22/04/2009 6720620012 81



2 

Spare parts list                                                                     

Pump / Hydraulic assy
D

35CDI-FSN 35CDI-FSP 

22/04/2009 6720620012 82



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

24 Flow switch inlet assy 8 716 120 770 0 NG
25 Gauze filter 8 716 148 401 0 LPG
25 Gauze filter 8 716 148 401 0 NG
26 Flow regulator type E-W 12 litre red 8 716 141 061 0 18 LPG
26 Flow regulator type E-W 12 litre red 8 716 141 061 0 18 NG
27 Flow switch outlet assy 8 716 121 144 0 LPG
27 Flow switch outlet assy 8 716 121 144 0 NG
28 M5x12 cone pointed hx hd Screw 8 716 155 013 0 LPG
28 M5x12 cone pointed hx hd Screw 8 716 155 013 0 NG
29 Clip - retaining 8 716 148 320 0 LPG
29 Clip - retaining 8 716 148 320 0 NG
30 Flow / return manifold kit 8 716 121 481 0 LPG
30 Flow / return manifold kit 8 716 121 481 0 NG
31 O-Ring 2.40 x 7.60 id nitrile 8 716 140 808 0 17 LPG
31 O-Ring 2.40 x 7.60 id nitrile 8 716 140 808 0 17 NG
32 Washer 8 716 140 912 0 02 LPG
32 Washer 8 716 140 912 0 02 NG
33 Valve pr.rel.1/2 x15mmx1/8 8 716 142 416 0 37 LPG
33 Valve pr.rel.1/2 x15mmx1/8 8 716 142 416 0 37 NG
34 Pipe - c/h flow assembly post 30/4/01 8 716 101 983 0 LPG Version code:  All Others

34 Pipe - c/h flow assembly post 30/4/01 8 716 101 983 0 NG Version code:  All Others

34 Pipe - c/h flow assy   0346 8 716 120 631 0 LPG AOV,AOW,ARP,ARQ

34 Pipe - c/h flow assy   0346 8 716 120 631 0 NG AOV,AOW,ARP,ARQ

35 Pipe - c.h. return assy. 8 716 120 361 0 LPG
35 Pipe - c.h. return assy. 8 716 120 361 0 NG
36 System pressure switch replacement kit 8 716 102 286 0 LPG
36 System pressure switch replacement kit 8 716 102 286 0 NG
37 Standard 15/60 Pump Head 8 716 113 594 0 LPG
37 Standard 15/60 Pump Head 8 716 113 594 0 NG
37 Pump & O-Rings 8 716 143 103 0 LPG
37 Pump & O-Rings 8 716 143 103 0 NG
38 Harness dhw pump 35cdi 8 716 146 659 0 LPG
38 Harness dhw pump 35cdi 8 716 146 659 0 NG
39 Harness ch pump 35cdi 8 716 146 660 0 LPG
39 Harness ch pump 35cdi 8 716 146 660 0 NG
40 Wireform spring 8 716 148 321 0 14 LPG
40 Wireform spring 8 716 148 321 0 14 NG
41 Expansion vessel 10 litre c/o O-Rings 8 716 142 506 0 LPG
41 Expansion vessel 10 litre c/o O-Rings 8 716 142 506 0 NG
42 Washer (16.0 x 5.30 x 1.5) 8 716 148 208 0 LPG
42 Washer (16.0 x 5.30 x 1.5) 8 716 148 208 0 NG
43 Twist lok cable tie 8 716 141 168 0 LPG
43 Twist lok cable tie 8 716 141 168 0 NG
44 Plug brass 1/2 bsp taper sq 8 716 140 262 0 LPG
44 Plug brass 1/2 bsp taper sq 8 716 140 262 0 NG
  Keep locking plate ass kit 8 716 120 962 0 LPG
  Keep locking plate ass kit 8 716 120 962 0 NG
  Ntc/thermister dhw 8 716 142 302 0 17 LPG
  Ntc/thermister dhw 8 716 142 302 0 17 NG

235CDI-FSN 35CDI-FSP Pump / Hydraulic assy
D

22/04/2009 6720620012 83



3 
Superstructure
D

35CDI-FSN 35CDI-FSP 

Spare parts list                                                                     

22/04/2009 6720620012 84



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

1 Nut Captive  No:8 8 716 148 204 0 16 LPG
1 Nut Captive  No:8 8 716 148 204 0 16 NG
2 Harness-fan 8 716 121 084 0 LPG
2 Harness-fan 8 716 121 084 0 NG
3 Cord strain relief Bush 8 716 141 102 0 14 LPG
3 Cord strain relief Bush 8 716 141 102 0 14 NG
4 Harness-top 352 8 716 121 030 0 LPG
4 Harness-top 352 8 716 121 030 0 NG
5 Bush cord strain relief sr5mn3 8 716 141 134 0 LPG
5 Bush cord strain relief sr5mn3 8 716 141 134 0 NG
6 Air pressure switch 8 716 156 736 0 LPG AOV,AOW,ARP,ARQ

6 Air pressure switch 8 716 156 736 0 NG AOV,AOW,ARP,ARQ

6 Pressure differential 8 716 156 744 0 33 LPG Version code:  All Others

6 Pressure differential 8 716 156 744 0 33 NG Version code:  All Others

7 Screw no.8 x 3/8" b pozi f/hd s/ta 2 912 421 224 0 LPG
7 Screw no.8 x 3/8" b pozi f/hd s/ta 2 912 421 224 0 NG
8 beige silicone tubing 5m long 8 716 101 080 0 27 LPG
8 beige silicone tubing 5m long 8 716 101 080 0 27 NG
9 Red silicone tubing 5m long 8 716 101 081 0 27 LPG
9 Red silicone tubing 5m long 8 716 101 081 0 27 NG
10 O-Ring 4 x 12 i/d high nitrile 8 716 140 836 0 LPG
10 O-Ring 4 x 12 i/d high nitrile 8 716 140 836 0 NG
11 Screw special 3-3345 m5 x 24lg 8 716 155 010 0 LPG
11 Screw special 3-3345 m5 x 24lg 8 716 155 010 0 NG
12 Flue sampling tube kit 8 716 140 249 0 18 LPG
12 Flue sampling tube kit 8 716 140 249 0 18 NG
13 Nut m6 hex brass 2 915 011 407 0 LPG
13 Nut m6 hex brass 2 915 011 407 0 NG
14 Screw m4 x 8 hex hd brass 2 911 081 118 0 LPG
14 Screw m4 x 8 hex hd brass 2 911 081 118 0 NG
15 Sampling tube 8 716 100 701 0 LPG
15 Sampling tube 8 716 100 701 0 NG
16 Pressure sensing nipple 8 716 140 302 0 LPG
16 Pressure sensing nipple 8 716 140 302 0 NG
17 Nut m6 full hex z/p m/s 2 915 011 007 0 LPG
17 Nut m6 full hex z/p m/s 2 915 011 007 0 NG
18 Burner assembly 35cdi ng (spares) 8 716 142 642 0 NG
18 Burner assembly 35cdi lpg (spares) 8 716 142 643 0 LPG
18 Burner assembly 35cdi lpg (spares) 8 716 142 643 0 NG
19 Electrode mounting bracket 8 716 100 806 0 LPG
19 Electrode mounting bracket 8 716 100 806 0 NG
20 Sensing electrode bracket 8 716 101 037 0 LPG
20 Sensing electrode bracket 8 716 101 037 0 NG
21 Screw m3.5x6 zc pl p/h taptite Scr 2 912 451 082 0 LPG
21 Screw m3.5x6 zc pl p/h taptite Scr 2 912 451 082 0 NG
22 Ignition electrode assembly 8 716 142 127 0 LPG
22 Ignition electrode assembly 8 716 142 127 0 NG
23 Sensing electrode assy 8 716 121 207 0 LPG
23 Sensing electrode assy 8 716 121 207 0 NG
24 Rubber grommet 8 716 140 708 0 21 LPG
24 Rubber grommet 8 716 140 708 0 21 NG
25 Heat exchanger with O-Rings 8 716 142 804 0 LPG

335CDI-FSN 35CDI-FSP Superstructure
D

22/04/2009 6720620012 85



3 

Spare parts list                                                                     

Superstructure
D

35CDI-FSN 35CDI-FSP 

22/04/2009 6720620012 86



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

25 Heat exchanger with O-Rings 8 716 142 804 0 NG
26 Clip - retaining 8 716 148 320 0 LPG
26 Clip - retaining 8 716 148 320 0 NG
27 O-ring 16,64x3,53 8 716 140 831 0 LPG
27 O-ring 16,64x3,53 8 716 140 831 0 NG
28 Combustion front/back panel 8 716 100 294 0 LPG
28 Combustion front/back panel 8 716 100 294 0 NG
29 Screw m5 x 8 lg hex slot hd 2 911 121 150 0 LPG
29 Screw m5 x 8 lg hex slot hd 2 911 121 150 0 NG
30 Thermostat ranco l7 8 716 142 372 0 LPG
30 Thermostat ranco l7 8 716 142 372 0 NG
31 Nylon 6 spacer 6mm x 15-18 dia 8 716 141 139 0 LPG
31 Nylon 6 spacer 6mm x 15-18 dia 8 716 141 139 0 NG
32 Pin retaining 8 716 148 342 0 LPG
32 Pin retaining 8 716 148 342 0 NG
33 Pipe - flow assembly 8 716 120 372 0 LPG
33 Pipe - flow assembly 8 716 120 372 0 NG
34 Central heating sensor (pps) 8 716 142 384 0 29 LPG
34 Central heating sensor (pps) 8 716 142 384 0 29 NG
35 Primary h.w. thermistor clip 8 716 148 303 0 12 LPG
35 Primary h.w. thermistor clip 8 716 148 303 0 12 NG
36 M5x12 cone pointed hx hd Screw 8 716 155 013 0 LPG
36 M5x12 cone pointed hx hd Screw 8 716 155 013 0 NG
37 Air-vent automatic 3/8 (ss kit) 8 716 140 500 0 35 LPG
37 Air-vent automatic 3/8 (ss kit) 8 716 140 500 0 35 NG
38 Collector hood assembly 8 716 120 809 0 LPG
38 Collector hood assembly 8 716 120 809 0 NG
39 Tie strip painted c/w bolts & wing nuts 8 716 100 999 0 LPG
39 Tie strip painted c/w bolts & wing nuts 8 716 100 999 0 NG
40 J bolt zinc plt o-f 924 4x93 8 716 140 541 0 LPG
40 J bolt zinc plt o-f 924 4x93 8 716 140 541 0 NG
41 Nut m4 ms wing zn pl table 1 2 915 191 104 0 LPG
41 Nut m4 ms wing zn pl table 1 2 915 191 104 0 NG
42 Fan assembly 8 716 121 063 0 LPG
42 Fan assembly 8 716 121 063 0 NG
43 Air flow sensor 8 716 141 000 0 18 LPG
43 Air flow sensor 8 716 141 000 0 18 NG
44 Screw iso no 6b x 9.5 recessed 2 912 421 210 0 07 LPG
44 Screw iso no 6b x 9.5 recessed 2 912 421 210 0 07 NG
45 Inner casIng cover assembly 8 716 120 808 0 LPG
45 Inner casIng cover assembly 8 716 120 808 0 NG
46 Strip-sil.sp.515 8x8mm   white 8 716 140 747 0 LPG
46 Strip-sil.sp.515 8x8mm   white 8 716 140 747 0 NG
47 Screw no8 x 1 pozi fl hd st ms zp 2 912 421 029 0 08 LPG
47 Screw no8 x 1 pozi fl hd st ms zp 2 912 421 029 0 08 NG
48 Cer.fib.brd.10x142x204mm  (sides) 8 716 142 262 0 LPG
48 Cer.fib.brd.10x142x204mm  (sides) 8 716 142 262 0 NG
49 Cer.fib.brd.10x191x404mm  (back) 8 716 142 263 0 LPG
49 Cer.fib.brd.10x191x404mm  (back) 8 716 142 263 0 NG
50 Cer. fib. brd. 10x191x404mm 8 716 142 297 0 LPG
50 Cer. fib. brd. 10x191x404mm 8 716 142 297 0 NG
  Superstructure 35cdi 8 716 121 206 0 NG

335CDI-FSN 35CDI-FSP Superstructure
D

22/04/2009 6720620012 87



3 
Superstructure
D

35CDI-FSN 35CDI-FSP 

Spare parts list                                                                     

22/04/2009 6720620012 88



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

  Blanking cap red 8 716 141 211 0 LPG
  Blanking cap red 8 716 141 211 0 NG

335CDI-FSN 35CDI-FSP Superstructure
D

22/04/2009 6720620012 89



4 

Spare parts list                                                                     

Electrical Box Assembly
D

35CDI-FSN 35CDI-FSP 

22/04/2009 6720620012 90



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

1 Harness-main  352 8 716 121 014 0 LPG
1 Harness-main  352 8 716 121 014 0 NG
2 Reset button 8 716 141 019 0 18 LPG
2 Reset button 8 716 141 019 0 18 NG
3 Potentiometer adjuster - black 8 716 141 151 0 LPG
3 Potentiometer adjuster - black 8 716 141 151 0 NG
4 Transformer - bv066-0188.0 8 747 201 248 0 43 LPG
4 Transformer - bv066-0188.0 8 747 201 248 0 43 NG
5 Printed circuit board 8 748 300 396 0 LPG
5 Printed circuit board 8 748 300 396 0 NG
6 Harness ignition assembly 8 716 121 196 0 LPG
6 Harness ignition assembly 8 716 121 196 0 NG
7 Screw iso no 6b x 9.5 recessed 2 912 421 210 0 07 LPG
7 Screw iso no 6b x 9.5 recessed 2 912 421 210 0 07 NG
8 Facia hinge pin 8 716 141 007 0 26 LPG
8 Facia hinge pin 8 716 141 007 0 26 NG
9 O-Ring 1.60 x 7.10 id ep 8 716 140 807 0 17 LPG
9 O-Ring 1.60 x 7.10 id ep 8 716 140 807 0 17 NG
10 Screw no10x3/8" pozi flgd hd s/t Scr 2 912 421 231 0 LPG
10 Screw no10x3/8" pozi flgd hd s/t Scr 2 912 421 231 0 NG
11 Selector knob 8 716 141 021 0 LPG
11 Selector knob 8 716 141 021 0 NG
12 Control knob 8 716 141 044 0 LPG
12 Control knob 8 716 141 044 0 NG
13 Facia light insert 8 716 141 011 0 10 LPG
13 Facia light insert 8 716 141 011 0 10 NG
14 Facia inset plate 8 716 141 008 0 LPG
14 Facia inset plate 8 716 141 008 0 NG
15 PCB pump drive 8 716 146 302 0 LPG
15 PCB pump drive 8 716 146 302 0 NG
16 PCB support 8 716 141 112 0 LPG
16 PCB support 8 716 141 112 0 NG
17 Electrical box cover 8 716 141 067 0 27 LPG
17 Electrical box cover 8 716 141 067 0 27 NG
18 Panel fastener 8 716 141 045 0 04 LPG
18 Panel fastener 8 716 141 045 0 04 NG
19 Pressure gauge 4 bar dark grey 8 716 142 300 0 LPG
19 Pressure gauge 4 bar dark grey 8 716 142 300 0 NG
20 O-ring 7x2,5 8 716 140 817 0 22 LPG
20 O-ring 7x2,5 8 716 140 817 0 22 NG
21 Clip 8 716 148 301 0 03 LPG
21 Clip 8 716 148 301 0 03 NG
22 Facia panel bottom 8 716 141 080 0 27 LPG
22 Facia panel bottom 8 716 141 080 0 27 NG
23 Facia plate assembly 8 716 120 346 0 38 LPG
23 Facia plate assembly 8 716 120 346 0 38 NG
  Harness-board to board 352 8 716 121 028 0 LPG
  Harness-board to board 352 8 716 121 028 0 NG
  Harness earth cdi & i range 8 716 121 260 0 LPG
  Harness earth cdi & i range 8 716 121 260 0 NG
  PCB support pillar tcbs-8-01 8 716 141 076 0 LPG
  PCB support pillar tcbs-8-01 8 716 141 076 0 NG

435CDI-FSN 35CDI-FSP Electrical Box Assembly
D

22/04/2009 6720620012 91



4 
Electrical Box Assembly
D

35CDI-FSN 35CDI-FSP 

Spare parts list                                                                     

22/04/2009 6720620012 92



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

  Fuse 2a slow blow 20 x 5mm 8 716 156 000 0 LPG
  Fuse 2a slow blow 20 x 5mm 8 716 156 000 0 NG
  Fuse 1.25a 20mm antisurge 8 716 156 001 0 LPG
  Fuse 1.25a 20mm antisurge 8 716 156 001 0 NG

435CDI-FSN 35CDI-FSP Electrical Box Assembly
D

22/04/2009 6720620012 93



9 

Spare parts list                                                                     

Additional Spare Part
D

35CDI-FSN 35CDI-FSP 

22/04/2009 6720620012 94



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

  Extension flue kit-f116e1000 7 716 191 035 0 LPG
  Extension flue kit-f116e1000 7 716 191 035 0 NG
  Standard flue kit-f116h1000 7 716 191 037 0 LPG
  Standard flue kit-f116h1000 7 716 191 037 0 NG
  CDi-mechanical timer-s230m1 7 716 192 002 0 LPG
  CDi-mechanical timer-s230m1 7 716 192 002 0 NG
  CDi-electronic timer-s024e7 7 716 192 003 0 LPG
  CDi-electronic timer-s024e7 7 716 192 003 0 NG
  CDi-digistat reciever-so24r1 7 716 192 005 0 LPG
  CDi-digistat reciever-so24r1 7 716 192 005 0 NG
  CDi-remote control transmitter-so24t7 7 716 192 010 0 LPG
  CDi-remote control transmitter-so24t7 7 716 192 010 0 NG
  CDI-DIGISTAT SYSTEM (24HR) MK2 7 716 192 049 0 LPG
  CDI-DIGISTAT SYSTEM (24HR) MK2 7 716 192 049 0 NG
  Gas conversion kit lpg to ng 35cdi 7 716 192 147 0 LPG
  Gas conversion kit lpg to ng 35cdi 7 716 192 147 0 NG
  Gas conversion kit ng to lpg 35cdi 7 716 192 148 0 LPG
  Gas conversion kit ng to lpg 35cdi 7 716 192 148 0 NG
  35cdi-mini expansion vessel kit 7 716 192 158 0 LPG
  35cdi-mini expansion vessel kit 7 716 192 158 0 NG
  CDi-fuse pack 7 716 192 206 0 LPG
  CDi-fuse pack 7 716 192 206 0 NG
  35cdi-combustion insulation pack 7 716 192 224 0 LPG
  35cdi-combustion insulation pack 7 716 192 224 0 NG
  Gasket pack - Gas 7 716 192 225 0 LPG
  Gasket pack - Gas 7 716 192 225 0 NG
  Gasket pack - water 7 716 192 226 0 LPG
  Gasket pack - water 7 716 192 226 0 NG
  Digistat Transmitter Greenstar MK2 8 716 114 461 0 LPG
  Digistat Transmitter Greenstar MK2 8 716 114 461 0 NG
  Hardware/literature pack 8 716 121 208 0 LPG
  Hardware/literature pack 8 716 121 208 0 NG
  Ring outer alum 8 716 140 003 0 LPG
  Ring outer alum 8 716 140 003 0 NG
  Ring inner alum 8 716 140 004 0 LPG
  Ring inner alum 8 716 140 004 0 NG
  Gasket - wall sealing 8 716 140 738 0 LPG
  Gasket - wall sealing 8 716 140 738 0 NG
  Gasket-sil.sp 3mm x112id 8 716 140 740 0 LPG
  Gasket-sil.sp 3mm x112id 8 716 140 740 0 NG
  Strip-sil.sp.515 8x8mm   white 8 716 140 747 0 LPG
  Strip-sil.sp.515 8x8mm   white 8 716 140 747 0 NG
  Gasket terminal 8 716 140 748 0 LPG
  Gasket terminal 8 716 140 748 0 NG
  Side flue template (laser) 8 716 144 111 0 LPG
  Side flue template (laser) 8 716 144 111 0 NG
  35cdi rsf serv & inst manual pre 09/01 8 716 145 143 0 LPG
  35cdi rsf serv & inst manual pre 09/01 8 716 145 143 0 NG
  35cdi user manual pre 09/01 8 716 145 144 0 LPG
  35cdi user manual pre 09/01 8 716 145 144 0 NG
  Wall template-35cdi 8 716 147 137 0 LPG
  Wall template-35cdi 8 716 147 137 0 NG

935CDI-FSN 35CDI-FSP Additional Spare Part
D

22/04/2009 6720620012 95



9 
Additional Spare Part
D

35CDI-FSN 35CDI-FSP 

Spare parts list                                                                     

22/04/2009 6720620012 96



Pos description S-Nr ordering no. PG gas type

 3
5C

D
I-F

SN

 3
5C

D
I-F

SP

remarks

  Strap flue duct 8 716 148 209 0 LPG
  Strap flue duct 8 716 148 209 0 NG

935CDI-FSN 35CDI-FSP Additional Spare Part
D

22/04/2009 6720620012 97



Pos
1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
2
1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37

Pos

List of translations                                                                 

22/04/2009 6720620012 98



38
39
40
41
42
43
44

3
1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47

Pos
48

List of translations                                                                 

22/04/2009 6720620012 99



49
50

4
1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23

9

Pos

List of translations                                                                 

22/04/2009 6720620012 100



United Kingdom7 716 130 044 35CDI-FSN-GB NAT GAS COMBI

United Kingdom7 716 130 045 35CDI-FSP-GB LPG GAS COMBI

Appliance ordering no. Country remarks

Types of appliances                                                                  

22/04/2009 6720620012 101



22/04/2009 6720620012 102



22/04/2009 6720620012 103



22/04/2009 6720620012 104



22/04/2009 6720620012 105



x

22/04/2009 6720620012 106


